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SKEMA JAWAPAN KERTAS 2 (SET 2) JUJ 2016

SUB | TOTAL
NO | SOLUTION MARK | MARK
L m=5-2n OR n:S_Tm m
, 5-mY
n*-3(5-2n)=7 — -3m=7 Im
n?+6n—22=0 m*—22m-3=0
2
_(6)£(6)' -4()(-22) Im
2(1)
2
_—(22)£\(-22)" -4()(-3) im
2(1)
1m
N=2568 n=-8568
m=22.136 m=0.136 S
2@ |, __2 1m
-3
m+2 P
2+3(2) i
m=14 Im
b | f(1)=3 1m
14+ x
Let y= and solve
() Y= e Y o
WA b\ NI
fﬁl I fs Im
=513 °
3.a) | m>13 1m
(b)(i) | m=14
1m
L,=850r F=24 orf =14
median =8.5+(30_24j(5) Im
14
10.64 tm
w206 Pagl




SKEMA JAWAPAN KERTAS 2 (SET 2) JUJ 2016

(i) | X fx=546 and > fx" =6369 im
. _ [6369 (546 jz
60 | 60 Im
4.877 1m
4.(a) | a=400 and r=0.9 1m
T,, =400(0.9)° tm
Im
155 cm
400(1-0.9"
(0) | 400(1-09") > 2500 1m
1-0.9
0.9" <0.375 Im
1
o log,,0.375 m
log,, 0.9
Im
10 minute
5.(a Im
@ Midpoint Zahir and Aisyah = (10;6 , 60;55)
Im
10
Salina: X+(-10) _10+60 of Y20 _60+55
2 2 2
(80,95) im
(b) | Hafiz to Zahir = /(~10-10)° +(60-20)° OR
. . 2 2 1m
Aisyah to Zahir = \/(60—10) +(55-60)
Hafiz: Hafiz +/2000 < Aisyah 2525 1m
(© | 55-60_58-60 m
60-10 p-10
Im
p=30 7
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SKEMA JAWAPAN KERTAS 2 (SET 2) JUJ 2016

6. 20 0,1
kos @ :4—0, -.0=60 léﬂrad 1m
1 2( 2
Luas Sektor==(40)"| =« im
2 3
=1675.516cm’
LuasSegitiga=%(4O)2 sin60° .. Luas tembereng = 1675.516 — 692.820 im
=692.820cm’ =982.969
Luas kawasan air = Luasbulatan — Luas tembereng
=5026.8522-982.969 1m
= 4,043.8522¢cm’
Isipadu air = 4,043.8522x 240 Im
=970,524.539cm®
. 970,524.539 1m
. Tinggi h =—5 026,548
T 1m
h = 193.1cm 7
7.9(a)
3 | — —
BR=5y or AP =8X 1m
@:%+@ or ﬁ:m‘i‘ﬁ im
BP = -3y +12x 1m
AR =-4x+8y m
(b) PQ =3hy —12hx 1m
QR =~k + By a
PR= -12x+8y tm
Im
Solve 3h+8k=8 and —-12h—-4k=-12
Im
h-16
21
K = S Im _
7 10
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SKEMA JAWAPAN KERTAS 2 (SET 2) JUJ 2016

8.(a)
log,,x | 0.10 | 0.20 | 0.40 | 0.50 | 0.70 0.80 im
log,,y | 068 | 0.58 | 0.42 | 0.34 | 0.18 0.08 im
Plot one point with scale giving im
Plot all point correctly im
Line of best fix 1m
(b) log,, y =—p log,, X + log,, q
(i) — p=gradient
B p:0.68—0.08 _ 08571 1m
0.1-0.8
p=0.8571 Im
(i) | *c=0.76
log,,q=0.76 o
q=5.754 1m
Im
0.75<*c<0.77 10
9.(a 2 2
@ 2J.g(x)dx+J.3xdx 1m
0 0
32 2 1m
2(7)+[i}
2 0
20 Im
p=10 Im
(i) y=2x*+cC m
10=2(2)" +c m
y=2x"+2 1m
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SKEMA JAWAPAN KERTAS 2 (SET 2) JUJ 2016

1 1 1m

(iii) M, =3 and use y—10:—§(x—2)

x4 im
y==3"7% 10

10.(a)

(0) P(X 24)=1-P(X =3)-P(X =2)-P(X =1)-P(X =0) im
Use "C.(p) (a)" 12
=0.48625

(i) | 27.3=n(0.35)(0.65) 1m
n=120 1m
(b) | P(28< X <40)
2830 40-30 1m
{2258
5.2 5.2
=(-0.385<7Z <1.923)
=1-P(Z <-0.385)—P(Z >1.923) tm
=1-0.3501-0.0272 im
=0.6227
-1 100 1m
0.6227
=160 Im
10
11.(a) | =(kos 260 +1)tan &
= (2kos 20—1+1)(ﬂJ Im
kos @
=2kosdsin g
=sin26 im
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SKEMA JAWAPAN KERTAS 2 (SET 2) JUJ 2016

(b) A
p
1_
0 on
Shape of positive sine curve im
2cyclesfor 0<0<2n im
Maximum = 2 and minimum =0 im
Reflection of sine graph
Shift up 1 at y-axis 1m
X
(kos 260 +1)tan 8 = ——
T
) X
sin 20 = ——
T
X
l-y=—
T
X
T
Im
Sketch the straight line on the graph m
The numbers of solution are 3 10
12. .
@ | 151 x7xsinBCD .
2 m
/BCD = 4558 1m
2 2 2 . Im
BD =5.119 cm 1m
© 10 5119 im
sin35"  sin ZDAB
~/ABD=180"-17.07 —-35° 1m
/ABD=127.93 1m
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SKEMA JAWAPAN KERTAS 2 (SET 2) JUJ 2016

1 . .
d) Ex5.119><10><3|n127.93 1m
20.19 + 15 Im
35.19 1m _
10
13.
3@ | _15 g4t
a:%:—8+ 2t 1m
dt
Im
Initial acceleration, t=0
a=-8 Im
(b) |15-8t+t?>0
1m
(5-t)(3-t)>0
\ Im
3 5
t<3@t>5 1m
©) Minimum velocity, a=0
a=-8+2t=0 1m
t=4
v=15-8t +t°
s:'[vdt :j(15—8t+t2)dt
1m
s =15t — 4t? +1t3
3
2 1, .3
S, :15(4)—4(4) +§(4) 1m
5, =17+ tm 10
3
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SKEMA JAWAPAN KERTAS 2 (SET 2) JUJ 2016

14, 1m
1m
=RM116760
Im
(b) (1) «— 408000 <100
340000
=120 1m
4)+(110xk)+(130x(5—k))+150
(i) (120>< )+( X )+( x( ))+ 104 1mim
4+1+k+5-k
k=2
Im
© | 168+154+182+210 1mim
10 1m
=71.4
10
15.(a) _
I x+y<160 1m
Il : 50x <60y 1m
l: y<x+60 Im
(b) Draw 1 line correctly im
Draw all line correctly Im
Shaded and label R im
(c)(i) | 50<y<100
(i) Profit= 60x + 80y Im
=60(50) + 80(110) 1mim
RM 11,800.00 1m
10
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SOALAN 8
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SOALAN 15
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